ARRHZ & DHHR &3-4- 185 E BRHRAIENE

2015858 1 =A—4:NO. 4

[20155%E6 F 1 =#—%:NO. 4

TE HIEE(uA) K HiE BIEE(uA) SR
PREE |[Eftih & FEi5iE 3085 E(ppm) |[ER{THh & TiE  30H Y E (opm)
1.BHE 23.54 1.BHE 23.83
31d 29.3d
2 BHE 21.29 2BHE 20.67
31d 29.3d
SHREE 19.36 3ABEE 18.92
31d 29.3d
4./MR ILBHE 20.76 4./MR ILBHE 18.64
31d 29.3d
NIR 5. #AO=E 23.16 5. HFDENE 2253
31d | 29.3d |
6. TR 2454 6. TR 23.37
31d 29.3d
7. Hh=E 24.06 7. AdhE 23.53
31d 31d
8(1). HH®E 25.33 8(1). HH®E 23.16
31d 31d
8(2). B4t 23.58 8(2). Bt 18.79
31d 31d
9. B E 23.21 9. Rifi 22.03
31d 31.3d
10.ICH 24.75 10.ICH 24.73
31d 31.3d
1M.AHER 34.6 1M.AHER 33.26
31d 31d
12. 581 21.08 12.50E 27.09
31d 31d
13.85KE 20.38 13.85KE 19.77
31d 31.3d
Y-1.ZHE Y-1.ZHE 20.22
32d
Y-2.NLUE Y-2.HLUE 19.91
31d
3.4.18 |Y-3.JI| L= Y-3.JI| EE 24.22
31d
Y—-4.5 3 K Y—-4.5 3 K 18.73
31d
Y-5 Y-5
Y—6 Y—6

* A A—ANo4DER =R Y(u £=0.090

7948X(u A)-0.0100484 M 5 E H

AIE [ 2015558 EEE (LA) = 5ﬂ'lE:)%| B | 2015%6H AR (LA | BEE]| Ak |

B EH{E 30E#E (ueg)* [HRE(pp B EH#{E 30 #2E (ug)* |AR(ppm
14 14

R\ 1% 15.04 | 1.3555 | 0.01336 Z</\i% 214 | 1.933 | 0.01224
31d ET 31d
15 15

#H 2339 | 2.114 [0.01323 ¥ HE 24145 | 2.182 | 0.01249
31d 31.3d
16 16

il 30.48 | 2.757 |0.02056 Ll 28.325 | 2.562 | 0.01854
31d 31.3d
Y-7. Y-7.

=5 == 2409 | 2.177 | 0.01631
30d

[[20156%E78 31 =A—%:NO. 4

[[2015%F8H 1 =X—%:NO. 4




TE HIEE(LA) K HiE BIEE(uA) SR
PREE |[Eftih & FEi5iE 3085 E(ppm) R & TiE  30H Y E (opm)
1.BHE 272 2645 2503 1.BHE 20 2125 19.77
31.7d 25.7 32.25d 225
2BHE 255 2555  24.18 2;BHE 18.5 184  17.12
31.7d 25.6 32.25d 18.3
SAREE 245 2465  23.33 SEREE 17.8 179 16.68
31.7d 24.8 32.2d 18
4. /MR LB 236 2405 2276 4./ R L HH 175 17.75 1654
31.7d 24.5 32.2d 18
HIE 5. ADELD 279 2855  27.02 5. HFDEL 208 2155 20.08
31.7d 29.2 32.2d 22.3
6. @5 T 28 271 2565 6. ElnTH 186  18.35 17.1
31.7d 26.2 32.2d 18.1
7. Hh=E 26.5 26.2 26.2 7. Hh=E 19.1 202 1955
30d 25.9 31d 21.3
8(1). HHE® 295 2765 27.65 8(1). A 20 20.1  19.45
30d 25.8 31d 20.2
8(2). HH 28.5 29 29 8(2). HHl 12 11.55 11.18(?)
30d 29.5 31d 10.1
9. B E 265 2725  26.54 9. Rifi 19 19.3  18.09
30.8d 28 32d 19.6
10.ICH 28.5 29 2825 10.ICH 219 2195 2058
30.8d 29.5 32d 22
11.ASES 37.2 379  36.68 NMAERES 27 2745 2573
31d 38.6 32d 27.9
(PE=%E= 25.8 23.9 23.9 12.5H1E 14.6 145 1403
30d 22 31d 144
13.85KE 25.2 25.1 2413 13.85KE 185 187 1753
31.2d 25 32d 18.9
Y-1.ZHE 249 2475  23.95 Y-1.ZHE 19 188 17.63
31d 24.6 32d 18.6
Y-2.ALLUE 21.8 21.8 21.1 Y-2.ALLUE 15.6 153 1434
31d 21.8 30d 15
3.4.18 |Y-3.JI| L= 27 269  26.03 Y-3.JI| EE 19 19 17.81
31d 26.8 31d 19
Y—-4.5 3 K 22 2129 Y—-4 1%l K 181  16.45
31d 22 30d 18.1
Y-5 Y-5
Y—6 Y—6
* 1A A—ANoADEE R Y(u £)=0.0907948X(u A)-0.0100484 o E H
HIE [ 2015%E7H GAIEME (A = 5ﬂ'lE:)%| H7E 20152580 BICIE (LA | REE| Bk |
B Fi9{E 30E#E (ue)* A M (pp 5] EH#{E 30 #2B (ug)* |AR(ppm
14 16.2 14 18.9
AJ\E 183 1757 1695 | 1529 [0.01412| ZA&/\iE 19.1 18.93 17.75 | 1.6015 | 0.00869
31.1d 18.2 ET 32d 18.8
15 25.5 15 20
#H 24.7 255 2484 | 2245 [0.01461 #H 19.6 19.7 1847 | 1.667 | 0.00913
30.8d 26.3 ET 32d 19.5
16 35.3 16 26.7
il 36 352 3429 | 3.103 | 0.0197 gl 27.2 2713 2543 | 2.299 | 0.01355
30.8d 34.4 32d 275
Y-7. 30.6 Y-7. 235
== 30 296 2865 | 2591 [0.01779 == 22 227 2064 | 1.864 | 0.0091
31d 28.2 33d 22.6
[2015%9F 1 =X—%:NO. 4 [2015% 108 21 =*—%:NO. 4 I
E | | HIFEE(LA) KEdE HAIEE(uA) KR FE



IRER || B s Fi9{E 308 # 8 EE (opm) ||BR {3 25 FEH{E 30 H #EE (ppm)
1.BHE 171 1765  18.32 1.BHE
28.9d 18.2
2BHE 175 1665 17.28 2 BHE
28.9d 15.8
SEREE 15.8 158 1585 SEREE
29.9d 15.8
YIS AN Y 15 139 1443 4 MR ILBHE
28.9d 128
IR 5. HFOELD 203 2025 2102 5. HFDENE
28.9d 20.2 |
6. ESTH 159 16.7 17.335 6. EHTH
28.9d 17.5
7. Hh=E 22 23 2226 7. Hh=E
31d 24
8(1). HHEE 242 2285 2211 8(1). HE
31d 215 |
8(2). HH 22.6 232 2245 8(2). HH L
31d 23.8
9. RifiE 178  18.05  19.27 9. RifiE
28.1d 18.3
10.ICH 196 1985 21.19 10.ICH
28.1d 20.1
MESESA 267 2775 2963 MNAHES
28.1d 28.8
12.5H1E 16.7 174 16.84 12.5H1E
31d 18.1
13.85KE 19.8 18.9 20.395 13.85K=E
27.8d 18
Y-1.ZHE 20 20.1 20.1 Y-1.ZHE
30d 20.2
Y-2. N LLE 15.8 15.4 14.9 Y-2. N LLE
31d 15
3.4.18 |Y-3JIIL=E 202 1945 1945 Y-3.JI| EE
30d 18.7
Y—4 i R 17 17.3 17.3 Y-4 #%3d K
30d 17.6
Y-5 Y-5
Y—6 Y—6
* A A—ANodDEREHE Y(u £)=0.0907948X(u A)-0.0100484 o E H
HIE [ 2015598 AT (A R ME%| B 20155100 HIRE (LA BEE]| Al |
B EH{E 0E#E (ueg)* [HRE(pp 5 EH#{E 30H#E (ue)* |AR(ppm
14 17.2 14
R\ 18 1757 1876 | 1.693 [0.01191| ZA&/\#&
28.1d 175
15 6.5 15
¥ H 5 5.23 001284 #7H
=T 4.2
16 248 16
nadlll 25.6 2547 27.095 | 245 |0.01811 sl
28.2d 26
Y-7. 18.9 Y-7
== 19.6 19.25 20.625 | 1.863 ND ==
28d 0

[2015%F11H 1=4—%:NO. 4

[2015% 128 1=—%—%:NO. 4

it i

HIEE( uA)

AR =
Fi9fE 308 E E(ppm) [|[ER 1 tth &

AEMRE(uA)

EE

TH9fE  30H 5 EH FE (ppm)




1LEHE 1LEHE
2BHE 2BHE
SHEEE 3SEREE
4. 1MFRILTHE 4.1MFRILTHE
MR (b, A DELNE 5. A4 DENE
a@ﬁ?% a@ﬁ?%
7. HPRE 7. HPRE
8(1). HiEE 8(1). B
8(2). El.'j:'.:II:| 8(2). El.'i'.:lll
9. RitiE 9. RitiE
10.ICH 10.ICH
.ARESR .ARESR
12.5H%E 12.5H%E
13.85KE 13.85KE
Y-1.2HE Y-1.%H=E
Y-2.ALUE Y-2.ALUE
3.4.18 |[Y-3.JI| E=E Y-3.JI| £
Y—4 Fi 3 K \REETES
Y-5 Y-5
Y-6 Y-6

* 1= A—ENodDREHE Y(u £=0.0907948X( ¢ A)-0.0100484Hh 5 E H
HITE | 20155118 BIEE (1 A) = [ AlE ‘%| SEE 201551283 HAIEB (LA FEE ]| BlE %H
HFHE](DP

5] EHE 0B H#E (ue)* 5] FiE 08B (ug)* AR ppm
14 14
Z VAN 7 AN
15 15
#HE #rH
16 16
il Gl
Y-7 Y-7
















